

Name : CHAUDHARI DIVYA RAJENDRA RATNA

Seat No : 060948

Center : 065

PRN : 2018016100020992

Medium : English

College : 267: Arts, B.C.A. and Fashion Designing College of Women, Shahada

Course Code	Course Name	AM	INT		EXT		Total		Grace	Total (100)	Cr	Gr	GP	EGP	App
			Min/Max	Obt	Min/Max	Obt	Max	Obt							
5101	Data Communication and Networking	TH	10/25	22	30/75	47	100	69		69/100	4	A	7.90	31.60	x
5102	Java Programming	TH	10/25	21	30/75	65	100	86		86/100	4	O	9.60	38.40	x
5103	Visual and Database Programming	TH	10/25	20	30/75	65	100	85		85/100	4	O	9.50	38.00	x
5104	Internet Programming	TH	10/25	22	30/75	63	100	85		85/100	4	O	9.50	38.00	x
5201	Java Programming LAB	PV	10/25	21	10/25	21	50	42		84/100	2	O	9.40	18.80	x
5202	Internet Programming LAB	PV	10/25	22	10/25	22	50	44		88/100	2	O	9.80	19.60	x
<b>Sem V</b>	<b>Total Credits: 20</b>		<b>Total EGP: 184.40</b>		<b>SGPA: 9.22</b>			<b>Grade: O</b>		<b>Grand Total: 411/500</b>			<b>Percentage: 82.20</b>		
6101	Management Information System	TH	10/25	23	30/75	47	100	70		70/100	4	A+	8.00	32.00	e
6102	Enterprise Resource Planning	TH	10/25	23	30/75	32	100	55		55/100	4	B+	6.00	24.00	e
6103	Intelligent Property Rights, Patents and Cyber Laws	TH	10/25	23	30/75	65	100	88		88/100	4	O	9.80	39.20	e
6201	Project	PV	20/50	40	20/50	47	100	87		87/100	4	O	9.70	38.80	e
6113	Elective: Web Technology	TH	10/25	23	30/75	59	100	82		82/100	4	O	9.20	36.80	e
<b>Sem VI</b>	<b>Total Credits: 20</b>		<b>Total EGP: 170.80</b>		<b>SGPA: 8.54</b>			<b>Grade: A+</b>		<b>Grand Total: 382/500</b>			<b>Percentage: 76.40</b>		
<b>** 10 Incentive marks for National Service Scheme</b>															
<b>Cumulative</b>	<b>Total Credits : 40.00</b>		<b>Total EGP : 355.20</b>					<b>Total CGPA : 8.88</b>					<b>Final Grade : A+</b>		
	<b>Grand Total : **803/1000</b>		<b>Equivalent Percentage : 80.30</b>					<b>Status : Pass</b>							

*Divya Rajendra Ratna*  
Principal

Shahada Taluka Educational Society and  
Co-Operative Education Society Limited's  
Sr. Arts Mahila Mahavidyalaya  
Tal-Shahada, Dist-Nandurbar

PRINCIPAL

6/9/2021



DIRECTOR,  
Board of Examination and Evaluation  
SNDT Women's University  
Pariskha Bhavan, Mumbai- 400 049

SNDT WOMEN'S UNIVERSITY, MUMBAI - 400049.  
 Bachelor Of Computer Applications - Semester VI  
 (Regular - 2013 Pattern) Examination: August 2021  
 Result Date :30 Aug 2021

Name : GAWALE PUJA VIJAY RADHABAI

Seat No : 060953

Center : 065

PRN : 2018016100020872

Medium : English

College : 267: Arts, B.C.A. and Fashion Designing College of Women, Shahada

Course Code	Course Name	AM	INT		EXT		Total		Grace	Total (100)	Cr	Gr	GP	EGP	App
			Min/Max	Obt	Min/Max	Obt	Max	Obt							
5101	Data Communication and Networking	TH	10/25	20	30/75	36	100	56		56/100	4	B+	6.20	24.80	x
5102	Java Programming	TH	10/25	18	30/75	39	100	57		57/100	4	B+	6.40	25.60	x
5103	Visual and Database Programming	TH	10/25	18	30/75	59	100	77		77/100	4	A+	8.70	34.80	x
5104	Internet Programming	TH	10/25	19	30/75	63	100	82		82/100	4	O	9.20	36.80	x
5201	Java Programming LAB	PV	10/25	19	10/25	20	50	39		78/100	2	A+	8.80	17.60	x
5202	Internet Programming LAB	PV	10/25	20	10/25	19	50	39		78/100	2	A+	8.80	17.60	x
<b>Sem V</b>	<b>Total Credits: 20</b>		<b>Total EGP: 157.20</b>		<b>SGPA: 7.86</b>		<b>Grade: A</b>			<b>Grand Total: 350/500</b>			<b>Percentage: 70.00</b>		
6101	Management Information System	TH	10/25	22	30/75	38	100	60		60/100	4	A	7.00	28.00	c
6102	Enterprise Resource Planning	TH	10/25	19	30/75	30	100	49	02	49/100	4	C	5.40	21.60	c
6103	Intelligent Property Rights, Patents and Cyber Laws	TH	10/25	23	30/75	49	100	72		72/100	4	A+	8.20	32.80	c
6201	Project	PV	20/50	40	20/50	42	100	82		82/100	4	O	9.20	36.80	c
6113	Elective: Web Technology	TH	10/25	19	30/75	59	100	78		78/100	4	A+	8.80	35.20	c
<b>Sem VI</b>	<b>Total Credits: 20</b>		<b>Total EGP: 154.40</b>		<b>SGPA: 7.72</b>		<b>Grade: A</b>			<b>Grand Total: 341/500</b>			<b>Percentage: 68.20</b>		
<b>Cumulative</b>	<b>Total Credits : 40.00</b>		<b>Total EGP : 311.60</b>		<b>Equivalent Percentage : 69.10</b>		<b>Total CGPA : 7.79</b>			<b>Final Grade : A</b>			<b>Status : Pass</b>		



*P. Prakashan*  
 Principal  
 Shahada Taluka Educational Society and  
 Co-Operative Education Society Limited's  
 Sr. Arts Mahila Mahavidyalaya  
 Tal. Shahada, Dist. Nandurbar

DIRECTOR,  
 Board of Examination and Evaluation  
 SNDT Women's University  
 Pariskha Bhavan, Mumbai- 400

SNDT WOMEN'S UNIVERSITY, MUMBAI - 400049.

Bachelor Of Computer Applications - Semester VI  
(Regular - 2013 Pattern) Examination: August 2021

Result Date : 30 Aug 2021

PRN : 2018016100020945

Medium : English

Name : GAWALE RAJSHRI RAJENDRA ASHABAI

Seat No : 060954

Center : 065

College : 267: Arts, B.C.A. and Fashion Designing College of Women, Shahada

Course Code	Course Name	AM	INT		EXT		Total		Grace	Total (100)	Cr	Gr	GP	EGP	App
			Min/Max	Obt	Min/Max	Obt	Max	Obt							
5101	Data Communication and Networking	TH	10/25	19	30/75	49	100	68		68/100	4	A	7.80	31.20	x
5102	Java Programming	TH	10/25	16	30/75	43	100	59		59/100	4	B+	6.80	27.20	x
5103	Visual and Database Programming	TH	10/25	16	30/75	59	100	75		75/100	4	A+	8.50	34.00	x
5104	Internet Programming	TH	10/25	18	30/75	63	100	81		81/100	4	O	9.10	36.40	x
5201	Java Programming LAB	PV	10/25	18	10/25	18	50	36		72/100	2	A+	8.20	16.40	x
5202	Internet Programming LAB	PV	10/25	19	10/25	19	50	38		76/100	2	A+	8.60	17.20	x
<b>Sem V</b>	<b>Total Credits: 20</b>		<b>Total EGP: 162.40</b>		<b>SGPA: 8.12</b>		<b>Grade: A+</b>			<b>Grand Total: 357/500</b>			<b>Percentage: 71.40</b>		
6101	Management Information System	TH	10/25	22	30/75	30	100	52	04	52/100	4	B	5.70	22.80	c
6102	Enterprise Resource Planning	TH	10/25	18	30/75	49	100	67		67/100	4	A	7.70	30.80	c
6103	Intelligent Property Rights, Patents and Cyber Laws	TH	10/25	22	30/75	47	100	69		69/100	4	A	7.90	31.60	c
6201	Project	PV	20/50	40	20/50	39	100	79		79/100	4	A+	8.90	35.60	c
6113	Elective: Web Technology	TH	10/25	18	30/75	49	100	67		67/100	4	A	7.70	30.80	c
<b>Sem VI</b>	<b>Total Credits: 20</b>		<b>Total EGP: 151.60</b>		<b>SGPA: 7.58</b>		<b>Grade: A</b>			<b>Grand Total: 334/500</b>			<b>Percentage: 66.80</b>		
<b>Cumulative</b>	<b>Total Credits : 40.00</b>		<b>Total EGP : 314.00</b>		<b>Equivalent Percentage : 69.10</b>		<b>Total CGPA : 7.85</b>			<b>Final Grade : A</b>			<b>Status : Pass</b>		
	<b>Grand Total : 691/1000</b>														

*Rashmi*  
Principal  
Shri. Arts Mahila Mahavidyalaya  
Tal-Shahada, Dist-Nandurbar



DIRECTOR,  
Board of Examination and Evaluation  
SNDT Women's University  
Pariksha Bhavan, Mumbai- 400 004



SNDT WOMEN'S UNIVERSITY, MUMBAI - 400049  
 Bachelor Of Computer Applications - Semester VI  
 (Regular - 2013 Pattern) Examination August 2021  
 Result Date :30 Aug 2021

Name : HAJARE RENUKA NANDU PRITI

Seat No : 060956

Center : 065

PRN : 2018016100020984

Medium : English

College : 267: Arts, B.C.A. and Fashion Designing College of Women, Shahada

Course Code	Course Name	AM	INT		EXT		Total		Grace	Total (100)	Cr	Gr	GP	EGP	App
			Min/Max	Obt	Min/Max	Obt	Max	Obt							
5101	Data Communication and Networking	TH	10/25	21	30/75	47	100	68		68/100	4	A	7.80	31.20	x
5102	Java Programming	TH	10/25	21	30/75	53	100	74		74/100	4	A+	8.40	33.60	x
5103	Visual and Database Programming	TH	10/25	22	30/75	63	100	85		85/100	4	O	9.50	38.00	x
5104	Internet Programming	TH	10/25	21	30/75	67	100	88		88/100	4	O	9.80	39.20	x
5201	Java Programming LAB	PV	10/25	21	10/25	21	50	42		84/100	2	O	9.40	18.80	x
5202	Internet Programming LAB	PV	10/25	20	10/25	20	50	40		80/100	2	O	9.00	18.00	x
<b>Sem V</b>			<b>Total EGP: 178.80</b>		<b>SGPA: 8.94</b>		<b>Grade: A+</b>			<b>Grand Total: 397/500</b>			<b>Percentage: 79.40</b>		
<b>Total Credits: 20</b>															
6101	Management Information System	TH	10/25	22	30/75	39	100	61		61/100	4	A	7.10	28.40	c
6102	Enterprise Resource Planning	TH	10/25	22	30/75	45	100	67		67/100	4	A	7.70	30.80	c
6103	Intelligent Property Rights, Patents and Cyber Laws	TH	10/25	23	30/75	53	100	76		76/100	4	A+	8.60	34.40	c
6201	Project	PV	20/50	47	20/50	48	100	95		95/100	4	O+	10.00	40.00	c
6113	Elective: Web Technology	TH	10/25	22	30/75	59	100	81		81/100	4	O	9.10	36.40	c
<b>Sem VI</b>			<b>Total EGP: 170.00</b>		<b>SGPA: 8.50</b>		<b>Grade: A+</b>			<b>Grand Total: 380/500</b>			<b>Percentage: 76.00</b>		
<b>Total Credits: 20</b>															
<b>** 10 Incentive marks for National Service Scheme</b>															
<b>Cumulative</b>			<b>Total EGP : 348.80</b>		<b>SGPA : 8.72</b>		<b>Total CGPA : 8.72</b>						<b>Final Grade : A+</b>		
<b>Total Credits : 40.00</b>															
<b>Grand Total : **787/1000</b>			<b>Equivalent Percentage : 78.70</b>				<b>Status : Pass</b>								

*Principal*  
 Principal  
 Smt. Yashwantrao Education Society and  
 Cooperative Education Society Limited's  
 Sr. Arts & Science College  
 Shahada, Dist. Mandurbar



DIRECTOR,  
 Board of Examination and Evaluation  
 SNDT Women's University  
 Pariksha Bhavan, Mumbai- 400 049

Name : MALI SUVARNA DNYANESHWAR MINABAI

Seat No : 061678

Center : 065

PRN : 2018016100020694

Medium : Marathi

College : 070: Shahada Co.op. Education Society Ltd's Sr. Arts Mahila Mahavidyalaya, Shahada, Nandurbar

Specialization : APC IV, Core Component / Composite Course, D.C. XIV, D.C. XV, D.C. XVI, D.C.-XIII

Course Code	Course Name	AM	INT		EXT		Total		Grace	Total (100)	Cr	Gr	GP	EGP	App
			Min/Max	Obt	Min/Max	Obt	Max	Obt							
545904	Marathi Paper-IX Vangamayen Vad	TH	09/25	19	26/75	30	100	49		49/100	4	C	5.45	21.80	x
546004	Marathi Paper-X Madhyayugin Marathi Vagmayacha Eitihās-I	TH	09/25	18	26/75	32	100	50		50/100	4	B	5.50	22.00	x
546104	Marathi Paper-XI Aatmapar Lekhan	TH	09/25	19	26/75	49	100	68		68/100	4	A	7.80	31.20	x
515503	Cc Hindi Paper-V - Ekaanki Vidha	TH	09/25	18	26/75	34	100	52		52/100	4	B	5.70	22.80	x
546204	Marathi Paper-XII Marathi Marathi Kadambari	TH	09/25	19	26/75	45	100	64		64/100	4	A	7.40	29.60	x
565304	Apc Marathi Paper-III A Prasar Madhyamansathi Marathi	TH	09/25	18	26/75	30	100	48		48/100	4	C	5.40	21.60	x
<b>Sem V</b>	<b>Total Credits: 24</b>		<b>Total EGP: 149.00</b>		<b>SGPA: 6.21</b>			<b>Grade: B+</b>		<b>Grand Total: 331/600</b>			<b>Percentage: 55.17</b>		
615603	Cc Hindi Paper-VI - Upanyas Vidha	TH	09/25	21	26/75	34	100	55		55/100	4	B+	6.00	24.00	c
646304	Marathi Paper-XIII Bharatiy Kavyashastra	TH	09/25	19	26/75	47	100	66		66/100	4	A	7.60	30.40	c
646404	Marathi Paper-XIV Madhyayugin Marathi Vagmayacha Eitihās-II	TH	09/25	18	26/75	32	100	50		50/100	4	B	5.50	22.00	c
646504	Marathi Paper-XV Marathi Natak	TH	09/25	14	26/75	41	100	55		55/100	4	B+	6.00	24.00	c
647604	Marathi Paper-XVII Samakalin Vangamayin Pravah - Dalit Sahitya	TH	09/25	21	26/75	28	100	49		49/100	4	C	5.45	21.80	c
665404	Apc Marathi Paper-IVA Grantha Parikshan Aani Grantha Samiksha	TH	09/25	19	26/75	45	100	64		64/100	4	A	7.40	29.60	c
<b>Sem VI</b>	<b>Total Credits: 24</b>		<b>Total EGP: 151.80</b>		<b>SGPA: 6.33</b>			<b>Grade: B+</b>		<b>Grand Total: 339/600</b>			<b>Percentage: 56.50</b>		
<b>** 10 Incentive marks for National Service Scheme</b>															
<b>Cumulative</b>	<b>Total Credits : 48.00</b>		<b>Total EGP : 300.80</b>		<b>Total CGPA : 6.27</b>			<b>Total CGPA : 6.27</b>		<b>Final Grade : B+</b>			<b>Status : Pass</b>		
	<b>Grand Total : **680/1200</b>		<b>Equivalent Percentage : 56.67</b>												

*R. Phawhan*  
Principal

Shahada Taluka Educational Society and  
Co-Operative Education Society Limited's  
Sr. Arts Mahila Mahavidyalaya  
Tal- Shahada, Dist-Nandurbar



DIRECTOR,  
Board of Examination and Evaluation  
SNDT Women's University  
Pariksha Bhavan, Mumbai- 400 0

SNDT WOMEN'S UNIVERSITY, MUMBAI - 400049.

Bachelor of Arts - Semester VI  
(Regular - 2014 Pattern) Examination: August 2021

Result Date : 30 Sep 2021

Name : PAWAR NIKITA RAJU SHOBHA

Seat No : 061683

Center : 065

PRN : 2018016100019957

Medium : Marathi

College : 070: Shahada Co.op. Education Society Ltd's Sr. Arts Mahila Mahavidyalaya, Shahada, Nandurbar

Specialization : APC IV, Core Component / Composite Course, D.C. XIV, D.C. XV, D.C. XVI, D.C. XVII

Course Code	Course Name	AM	INT		EXT		Total		Grace	Total (100)	Cr	Gr	GP	EGP	App
			Min/Max	Obt	Min/Max	Obt	Max	Obt							
545904	Marathi Paper-IX Vangamayen Vad	TH	09/25	19	26/75	36	100	55		55/100	4	B+	6.00	24.00	x
546004	Marathi Paper-X Madhyayugin Marathi Vagmayacha Eithas-I	TH	09/25	18	26/75	45	100	63		63/100	4	A	7.30	29.20	x
546104	Marathi Paper-XI Aatmapar Lekhan	TH	09/25	18	26/75	41	100	59		59/100	4	B+	6.80	27.20	x
515503	Ce Hindi Paper-V - Ekaanki Vidha	TH	09/25	20	26/75	34	100	54		54/100	4	B	5.90	23.60	x
546204	Marathi Paper-XII Marathi Marathi Kadambari	TH	09/25	20	26/75	57	100	77		77/100	4	A+	8.70	34.80	x
565304	Apc Marathi Paper-III A Prasar Madhyamansathi Marathi	TH	09/25	19	26/75	43	100	62		62/100	4	A	7.20	28.80	x
<b>Sem V</b>	<b>Total Credits: 24</b>		<b>Total EGP: 167.60</b>		<b>SGPA: 6.98</b>			<b>Grade: B+</b>		<b>Grand Total: 370/600</b>				<b>Percentage: 61.67</b>	
615603	Ce Hindi Paper-VI - Upanyas Vidha	TH	09/25	20	26/75	26	100	46	06	46/100	4	C	5.30	21.20	c
646304	Marathi Paper-XIII Bharatiy Kavyashastra	TH	09/25	18	26/75	41	100	59		59/100	4	B+	6.80	27.20	c
646404	Marathi Paper-XIV Madhyayugin Marathi Vagmayacha Eitihis-II	TH	09/25	23	26/75	36	100	59		59/100	4	B+	6.80	27.20	c
646504	Marathi Paper-XV Marathi Natak	TH	09/25	23	26/75	55	100	78		78/100	4	A+	8.80	35.20	c
647604	Marathi Paper-XVIB Samakalin Vangamayin Pravah - Dalit Sahitya	TH	09/25	22	26/75	47	100	69		69/100	4	A	7.90	31.60	c
665404	Apc Marathi Paper-IVA Grantha Parikshan Aani Grantha Samiksha	TH	09/25	20	26/75	47	100	67		67/100	4	A	7.70	30.80	c
<b>Sem VI</b>	<b>Total Credits: 24</b>		<b>Total EGP: 173.20</b>		<b>SGPA: 7.22</b>			<b>Grade: A</b>		<b>Grand Total: 378/600</b>				<b>Percentage: 63.00</b>	
<b>Cumulative</b>	<b>Total Credits : 48.00</b>		<b>Total EGP : 340.80</b>		<b>Equivalent Percentage : 62.33</b>			<b>Total CGPA : 7.10</b>				<b>Final Grade : A</b>			
	<b>Grand Total : 748/1200</b>							<b>Status : Pass</b>							

*Shaylan*  
Principal  
Shahada Taluka Educational Society and  
Operative Education Society Limited's  
Sr. Arts Mahila Mahavidyalaya  
Tal- Shahada, Dist-Nandurbar



DIRECTOR,  
Board of Examination and Eval  
SNDT Women's University  
Pariksha Bhavan, Mumbai- 40

SNDT WOMEN'S UNIVERSITY, MUMBAI - 400049

Bachelor of Arts - Semester VI  
(Regular - 2014 Pattern) Examination August 2021

Result Date : 30 Sep 2021

Name : PAWAR PUNAM KIRAN BEBIBAI

Seat No : 061684

Center : 065

PRN : 2018016100020543

Medium : Marathi

College : 070: Shahada Co.op. Education Society Ltd's Sr. Arts Mahila Mahavidyalaya, Shahada, Nandurbar

Specialization : APC IV, Core Component / Composite Course, D.C. XIV, D.C. XV, D.C. XVI, D.C. XVII

Course Code	Course Name	AM	INT		EXT		Total		Grace	Total (100)	Cr	Gr	GP	EGP	App
			Min/Max	Obt	Min/Max	Obt	Max	Obt							
545904	Marathi Paper-IX Vangamayen Vad	TH	09/25	16	26/75	28	100	44		44/100	4	C	5.20	20.80	x
546004	Marathi Paper-X Madhyayugin Marathi Vagmayacha Eitias-I	TH	09/25	16	26/75	49	100	65		65/100	4	A	7.50	30.00	x
546104	Marathi Paper-XI Aatmapar Lekhan	TH	09/25	18	26/75	28	100	46		46/100	4	C	5.30	21.20	x
515503	Ce Hindi Paper-V - Ekaanki Vidha	TH	09/25	19	26/75	32	100	51		51/100	4	B	5.60	22.40	x
546204	Marathi Paper-XII Marathi Marathi Kadambari	TH	09/25	15	26/75	26	100	41		41/100	4	C	5.05	20.20	x
565304	Apc Marathi Paper-III A Prasar Madhyamansathi Marathi	TH	09/25	17	26/75	26	100	43	04	43/100	4	C	5.15	20.60	x
<b>Sem V</b>	<b>Total Credits: 24</b>		<b>Total EGP: 135.20</b>		<b>SGPA: 5.63</b>			<b>Grade: B</b>			<b>Grand Total: 290/600</b>		<b>Percentage: 48.33</b>		
615603	Ce Hindi Paper-VI - Upanyas Vidha	TH	09/25	21	26/75	39	100	60		60/100	4	A	7.00	28.00	e
646304	Marathi Paper-XIII Bharatiy Kavyashastra	TH	09/25	19	26/75	32	100	51		51/100	4	B	5.60	22.40	e
646404	Marathi Paper-XIV Madhyayugin Marathi Vagmayacha Eitias-II	TH	09/25	17	26/75	30	100	47		47/100	4	C	5.35	21.40	e
646504	Marathi Paper-XV Marathi Natak	TH	09/25	18	26/75	57	100	75		75/100	4	A+	8.50	34.00	e
647604	Marathi Paper-XVIB Samakalin Vangamayin Pravah - Dalit Sahitya	TH	09/25	21	26/75	28	100	49		49/100	4	C	5.45	21.80	e
665404	Apc Marathi Paper-IVA Grantha Parikshan Aani Grantha Samiksha	TH	09/25	17	26/75	39	100	56		56/100	4	B+	6.20	24.80	e
<b>Sem VI</b>	<b>Total Credits: 24</b>		<b>Total EGP: 152.40</b>		<b>SGPA: 6.35</b>			<b>Grade: B+</b>			<b>Grand Total: 338/600</b>		<b>Percentage: 56.33</b>		
<b>** 10 Incentive marks for National Service Scheme</b>															
<b>Cumulative</b>			<b>Total Credits : 48.00</b>		<b>Total EGP : 287.60</b>				<b>Total CGPA : 5.99</b>			<b>Final Grade : B</b>			
			<b>Grand Total : **638/1200</b>		<b>Equivalent Percentage : 53.17</b>				<b>Status : Pass</b>						

*P. Pawar*  
Principal

Shahada Taluka Educational Society and  
Co-operative Education Society Limited's  
Sr. Arts Mahila Mahavidyalaya  
Tal- Shahada, Dist- Nandurbar



DIRECTOR,  
Board of Examination and Evaluation  
SNDT Women's University  
Pariksha Bhavan, Mumbai- 400

SNDT WOMEN'S UNIVERSITY, MUMBAI - 400049

Bachelor of Arts - Semester VI  
(Regular - 2014 Pattern) Examination August 2021

Result Date :30 Sep 2021

Name : SAMUDRE SUREKHA KIRAN VATSALA

Seat No : 061687

Center : 065

PRN : 2018016100020574

Medium : Marathi

College : 070: Shahada Co.op. Education Society Ltd's Sr. Arts Mahila Mahavidyalaya, Shahada, Nandurbar

Specialization : APC IV, Core Component / Composite Course, D.C. XIV, D.C. XV, D.C. XVI, D.C.-XIII

Course Code	Course Name	AM	INT		EXT		Total		Grace	Total (100)	Cr	Gr	GP	EGP	App
			Min/Max	Obt	Min/Max	Obt	Max	Obt							
545904	Marathi Paper-IX Vangamayen Vad	TH	09/25	17	26/75	32	100	49		49/100	4	C	5.45	21.80	c
546004	Marathi Paper-X Madhyayugin Marathi Vagmayacha Eitihas-I	TH	09/25	20	26/75	32	100	52		52/100	4	B	5.70	22.80	x
546104	Marathi Paper-XI Aatmapar Lekhan	TH	09/25	21	26/75	36	100	57		57/100	4	B+	6.40	25.60	x
515503	Cc Hindi Paper-V - Ekaanki Vidha	TH	09/25	21	26/75	26	100	47	04	47/100	4	C	5.35	21.40	x
546204	Marathi Paper-XII Marathi Marathi Kadambari	TH	09/25	16	26/75	45	100	61		61/100	4	A	7.10	28.40	x
565304	Apc Marathi Paper-III A Prasar Madhyamansathi Marathi	TH	09/25	16	26/75	41	100	57		57/100	4	B+	6.40	25.60	x
<b>Sem V</b>		<b>Total Credits: 24</b>		<b>Total EGP: 145.60</b>		<b>SGPA: 6.07</b>		<b>Grade: B+</b>		<b>Grand Total: 323/600</b>			<b>Percentage: 53.83</b>		
615603	Cc Hindi Paper-VI - Upanyas Vidha	TH	09/25	22	26/75	26	100	48		48/100	4	C	5.40	21.60	c
646304	Marathi Paper-XIII Bharatiy Kavyashastra	TH	09/25	18	26/75	45	100	63		63/100	4	A	7.30	29.20	c
646404	Marathi Paper-XIV Madhyayugin Marathi Vagmayacha Eitihas-II	TH	09/25	16	26/75	38	100	54		54/100	4	B	5.90	23.60	c
646504	Marathi Paper-XV Marathi Natak	TH	09/25	20	26/75	45	100	65		65/100	4	A	7.50	30.00	c
647604	Marathi Paper-XVIB Samakalin Vangamayin Pravah - Dalit Sahitya	TH	09/25	19	26/75	51	100	70		70/100	4	A+	8.00	32.00	c
665404	Apc Marathi Paper-IVA Grantha Parikshan Aani Grantha Samiksha	TH	09/25	17	26/75	34	100	51		51/100	4	B	5.60	22.40	c
<b>Sem VI</b>		<b>Total Credits: 24</b>		<b>Total EGP: 158.80</b>		<b>SGPA: 6.62</b>		<b>Grade: B+</b>		<b>Grand Total: 351/600</b>			<b>Percentage: 58.50</b>		
<b>** 10 Incentive marks for National Service Scheme</b>															
<b>Cumulative</b>		<b>Total Credits : 48.00</b>		<b>Total EGP : 304.40</b>		<b>Equivalent Percentage : 57.00</b>		<b>Total CGPA : 6.34</b>		<b>Final Grade : B+</b>					
		<b>Grand Total : **684/1200</b>						<b>Status : Pass</b>							

*Dr. P. Chavan*  
**Principal**  
Shahada Taluka Educational Society and  
Operative Education Society Limited's  
Sr. Arts Mahila Mahavidyalaya  
Tal: Shahada, Dist: Nandurbar



DIRECTOR,  
Board of Examination and Evaluation  
SNDT Women's University  
Pariksha Bhavan, Mumbai- 400 049

SNDT WOMEN'S UNIVERSITY, MUMBAI - 400049

Bachelor of Arts - Semester VI  
(Regular - 2014 Pattern) Examination August 2021

Result Date : 30 Sep 2021

Name : KHARDE BABITA HIRALAL BAYANABAI

Seat No : 061677

Center : 065

PRN : 2018016100020407

Medium : Marathi

College : 070: Shahada Co.op. Education Society Ltd's Sr. Arts Mahila Mahavidyalaya, Shahada, Nandurbar

Specialization : APC IV, Core Component / Composite Course, D.C. XIV, D.C. XV, D.C. XVI, D.C.-XIII

Course Code	Course Name	AM	INT		EXT		Total		Grace	Total (100)	Cr	Gr	GP	EGP	App
			Min/Max	Obt	Min/Max	Obt	Max	Obt							
545904	Marathi Paper-IX Vangamayen Vad	TH	09/25	19	26/75	26	100	45	02	45/100	4	C	5.25	21.00	x
546004	Marathi Paper-X Madhyayugin Marathi Vagmayacha Eitahas-I	TH	09/25	20	26/75	61	100	81		81/100	4	O	9.10	36.40	e
546104	Marathi Paper-XI Aatmapar Lekhan	TH	09/25	20	26/75	34	100	54		54/100	4	B	5.90	23.60	x
515503	Cc Hindi Paper-V - Ekaanki Vidha	TH	09/25	20	26/75	28	100	48		48/100	4	C	5.40	21.60	x
546204	Marathi Paper-XII Marathi Marathi Kadambari	TH	09/25	18	26/75	39	100	57		57/100	4	B+	6.40	25.60	x
565304	ApC Marathi Paper-III A Prasar Madhyamansathi Marathi	TH	09/25	20	26/75	26	100	46	04	46/100	4	C	5.30	21.20	x
<b>Sem V</b>	<b>Total Credits: 24</b>		<b>Total EGP: 149.40</b>		<b>SGPA: 6.23</b>				<b>Grade: B+</b>	<b>Grand Total: 331/600</b>		<b>Percentage: 55.17</b>			
615603	Cc Hindi Paper-VI - Upanyas Vidha	TH	09/25	21	26/75	32	100	53		53/100	4	B	5.80	23.20	e
646304	Marathi Paper-XIII Bharatiy Kavyashastra	TH	09/25	14	26/75	28	100	42		42/100	4	C	5.10	20.40	e
646404	Marathi Paper-XIV Madhyayugin Marathi Vagmayacha Eitahas-II	TH	09/25	15	26/75	26	100	41	02	41/100	4	C	5.05	20.20	e
646504	Marathi Paper-XV Marathi Natak	TH	09/25	20	26/75	45	100	65		65/100	4	A	7.50	30.00	e
647604	Marathi Paper-XVIB Samakalin Vangamayin Pravah - Dalit Sahitya	TH	09/25	17	26/75	26	100	43		43/100	4	C	5.15	20.60	e
665404	ApC Marathi Paper-IV A Grantha Parikshan Aani Grantha Samiksha	TH	09/25	14	26/75	26	100	40	04	40/100	4	C	5.00	20.00	e
<b>Sem VI</b>	<b>Total Credits: 24</b>		<b>Total EGP: 134.40</b>		<b>SGPA: 5.60</b>				<b>Grade: B</b>	<b>Grand Total: 284/600</b>		<b>Percentage: 47.33</b>			
<b>Cumulative</b>	<b>Total Credits : 48.00</b>		<b>Total EGP : 283.80</b>		<b>SGPA : 5.91</b>				<b>Total CGPA : 5.91</b>	<b>Grand Total : 615/1200</b>		<b>Final Grade : B</b>			
	<b>Grand Total : 615/1200</b>		<b>Equivalent Percentage : 51.25</b>						<b>Status : Pass</b>						



*B. Shankar*  
Principal  
Shahada Taluka Educational Society and  
Co-operative Education Society Limited's  
Sr. Arts Mahila Mahavidyalaya  
Tal- Shahada, Dist- Nandurbar

DIRECTOR,  
Board of Examination and Evaluation  
SNDT Women's University  
Pariksha Bhavan, Mumbai- 400 049

SNIT WOMEN'S UNIVERSITY, MUMBAI - 400049.

Bachelor of Arts - Semester VI  
(Regular - 2014 Pattern) Examination August 2021

Result Date : 30 Sep 2021

Name : MAHIRE JYOTI SHANKAR SUREKHA

Seat No : 061692

Center : 065

PRN : 2018016100020462

Medium : Marathi

College : 070: Shahada Co.op. Education Society Ltd's Sr. Arts Mahila Mahavidyalaya, Shahada, Nandurbar

Specialization : APC IV, Core Component / Composite Course, D.C. XIV, D.C. XV, D.C. XVI, D.C.-XIII

Course Code	Course Name	AM	INT		EXT		Total		Grace	Total (100)	Cr	Gr	GP	EGP	App
			Min/Max	Obt	Min/Max	Obt	Max	Obt							
545906	Economics Paper-IX Theory of Employment	TH	09/25	22	26/75	26	100	48	06	48/100	4	C	5.40	21.60	x
546006	Economics Paper-X International Economics	TH	09/25	19	26/75	36	100	55		55/100	4	B+	6.00	24.00	x
546106	Economics Paper-XI Research Methodology	TH	09/25	18	26/75	30	100	48		48/100	4	C	5.40	21.60	x
515503	Ce Hindi Paper-V - Ekaanki Vidha	TH	09/25	18	26/75	30	100	48		48/100	4	C	5.40	21.60	e
546206	Economics Paper-XII Banking and Financial Institutions	TH	09/25	15	26/75	41	100	56		56/100	4	B+	6.20	24.80	x
565306	ApC Economics Paper-III Agricultural Economics	TH	09/25	23	26/75	39	100	62		62/100	4	A	7.20	28.80	x
<b>Sem V</b>	<b>Total Credits: 24</b>			<b>Total EGP: 142.40</b>		<b>SGPA: 5.93</b>		<b>Grade: B</b>		<b>Grand Total: 317/600</b>				<b>Percentage: 52.83</b>	
615603	Ce Hindi Paper-VI - Upanyas Vidha	TH	09/25	18	26/75	36	100	54		54/100	4	B	5.90	23.60	e
646306	Economics Paper-XIII Business Cycles and Stabilization Policies	TH	09/25	18	26/75	28	100	46		46/100	4	C	5.30	21.20	e
646406	Economics Paper-XIV Economics of Development	TH	09/25	16	26/75	36	100	52		52/100	4	B	5.70	22.80	e
647506	Economics Paper-XVA Economics of Cooperation	TH	09/25	20	26/75	45	100	65		65/100	4	A	7.50	30.00	e
646606	Economics Paper-XVI Public Finance	TH	09/25	19	26/75	26	100	45		45/100	4	C	5.25	21.00	e
665406	ApC Economics Paper-IV Industrial Economics	TH	09/25	20	26/75	41	100	61		61/100	4	A	7.10	28.40	e
<b>Sem VI</b>	<b>Total Credits: 24</b>			<b>Total EGP: 147.00</b>		<b>SGPA: 6.13</b>		<b>Grade: B+</b>		<b>Grand Total: 323/600</b>				<b>Percentage: 53.83</b>	
<b>** 10 Incentive marks for National Service Scheme</b>															
<b>Total Credits : 48.00</b>			<b>Total EGP : 289.40</b>			<b>Total CGPA : 6.03</b>			<b>Final Grade : B+</b>						
<b>Cumulative Grand Total : **650/1200</b>			<b>Equivalent Percentage : 54.17</b>			<b>Status : Pass</b>									

*A. Pawhan*  
Principal

Shahada Taluka Educational Society and  
Co-operative Education Society Limited's  
Sr. Arts Mahila Mahavidyalaya  
Tal: Shahada, Dist: Nandurbar



SNDT WOMEN'S UNIVERSITY, MUMBAI - 400049

Bachelor of Arts - Semester VI  
(Regular - 2014 Pattern) Examination August 2021

Result Date : 30 Sep 2021

Name : PATIL MEGHA YASHWANT SULATA

Seat No : 061693

Center : 065

PRN : 2018016100020551

Medium : Marathi

College : 070: Shahada Co.op. Education Society Ltd's Sr. Arts Mahila Mahavidyalaya, Shahada, Nandurbar

Specialization : APC IV, Core Component / Composite Course, D.C. XIV, D.C. XV, D.C. XVI, D.C.-XIII

Course Code	Course Name	AM	INT		EXT		Total		Grace	Total (100)	Cr	Gr	GP	EGP	App
			Min/Max	Obt	Min/Max	Obt	Max	Obt							
545906	Economics Paper-IX Theory of Employment	TH	09/25	21	26/75	30	100	51		51/100	4	B	5.60	22.40	x
546006	Economics Paper-X International Economics	TH	09/25	14	26/75	28	100	42		42/100	4	C	5.10	20.40	e
546106	Economics Paper-XI Research Methodology	TH	09/25	16	26/75	36	100	52		52/100	4	B	5.70	22.80	e
515503	Cc Hindi Paper-V - Ekaanki Vidha	TH	09/25	19	26/75	30	100	49		49/100	4	C	5.45	21.80	e
546206	Economics Paper-XII Banking and Financial Institutions	TH	09/25	18	26/75	26	100	44	02	44/100	4	C	5.20	20.80	x
565306	ApC Economics Paper-III Agricultural Economics	TH	09/25	16	26/75	26	100	42		42/100	4	C	5.10	20.40	e
<b>Sem V</b>	<b>Total Credits: 24</b>		<b>Total EGP: 128.60</b>		<b>SGPA: 5.36</b>			<b>Grade: C</b>			<b>Grand Total: 230/600</b>		<b>Percentage: 46.67</b>		
615603	Cc Hindi Paper-VI - Upanyas Vidha	TH	09/25	20	26/75	26	100	46	04	46/100	4	C	5.30	21.20	e
646306	Economics Paper-XIII Business Cycles and Stabilization Policies	TH	09/25	18	26/75	34	100	52		52/100	4	B	5.70	22.80	e
646406	Economics Paper-XIV Economics of Development	TH	09/25	20	26/75	30	100	50		50/100	4	B	5.50	22.00	e
647506	Economics Paper-XVA Economics of Cooperation	TH	09/25	23	26/75	32	100	55		55/100	4	B+	6.00	24.00	e
646606	Economics Paper-XVI Public Finance	TH	09/25	17	26/75	32	100	49		49/100	4	C	5.45	21.80	e
665406	ApC Economics Paper-IV Industrial Economics	TH	09/25	23	26/75	34	100	57		57/100	4	B+	6.40	25.60	e
<b>Sem VI</b>	<b>Total Credits: 24</b>		<b>Total EGP: 137.40</b>		<b>SGPA: 5.73</b>			<b>Grade: B</b>			<b>Grand Total: 309/600</b>		<b>Percentage: 51.50</b>		
<b>Cumulative</b>	<b>Total Credits : 48.00</b>		<b>Total EGP : 266.00</b>		<b>SGPA : 5.54</b>			<b>Total CGPA : 5.54</b>			<b>Final Grade : B</b>				
	<b>Grand Total : 589/1200</b>		<b>Equivalent Percentage : 49.08</b>					<b>Status : Pass</b>							

*Shayhan*  
Principal  
Taluka Educational Society and  
ative Education Society Limited's  
Arts Mahila Mahavidyalaya  
Shahada, Dist-Nandurbar



DIRECTOR,  
Board of Examination and Evaluation  
SNDT Women's University  
Pariskha Bhavan, Mumbai- 400 04

SNDT WOMEN'S UNIVERSITY, MUMBAI - 400049  
Bachelor of Arts - Semester VI  
(Regular - 2014 Pattern) Examination: August 2021  
Result Date :30 Sep 2021

Name : PINJARI AASMA ARIF MAIRAJ

Seat No : 061694

Center : 065

PRN : 2018016100015816

Medium : Marathi

College : 070: Shahada Co.op. Education Society Ltd's Sr. Arts Mahila Mahavidyalaya, Shahada, Nandurbar

Specialization : APC IV, Core Component / Composite Course, D.C. XIV, D.C. XV, D.C. XVI, D.C. -XIII

Course Code	Course Name	AM	INT		EXT		Total		Grace	Total (100)	Cr	Gr	GP	EGP	App
			Min/Max	Obt	Min/Max	Obt	Max	Obt							
545906	Economics Paper-IX Theory of Employment	TH	09/25	21	26/75	28	100	49		49/100	4	C	5.45	21.80	e
546006	Economics Paper-X International Economics	TH	09/25	20	26/75	34	100	54		54/100	4	B	5.90	23.60	x
546106	Economics Paper-XI Research Methodology	TH	09/25	18	26/75	32	100	50		50/100	4	B	5.50	22.00	x
515503	Cc Hindi Paper-V - Ekaanki Vidha	TH	09/25	20	26/75	49	100	69		69/100	4	A	7.90	31.60	x
546206	Economics Paper-XII Banking and Financial Institutions	TH	09/25	20	26/75	28	100	48		48/100	4	C	5.40	21.60	x
565306	Apc Economics Paper-III Agricultural Economics	TH	09/25	22	26/75	45	100	67		67/100	4	A	7.70	30.80	x
<b>Sem V</b>	<b>Total Credits: 24</b>		<b>Total EGP: 151.40</b>		<b>SGPA: 6.31</b>		<b>Grade: B+</b>			<b>Grand Total: 337/600</b>			<b>Percentage: 56.17</b>		
615603	Cc Hindi Paper-VI - Upanyas Vidha	TH	09/25	20	26/75	45	100	65		65/100	4	A	7.50	30.00	e
646306	Economics Paper-XIII Business Cycles and Stabilization Policies	TH	09/25	23	26/75	28	100	51		51/100	4	B	5.60	22.40	e
646406	Economics Paper-XIV Economics of Development	TH	09/25	24	26/75	45	100	69		69/100	4	A	7.90	31.60	e
647506	Economics Paper-XVA Economics of Cooperation	TH	09/25	22	26/75	59	100	81		81/100	4	O	9.10	36.40	e
646606	Economics Paper-XVI Public Finance	TH	09/25	23	26/75	53	100	76		76/100	4	A+	8.60	34.40	e
665406	Apc Economics Paper-IV Industrial Economics	TH	09/25	22	26/75	41	100	63		63/100	4	A	7.30	29.20	e
<b>Sem VI</b>	<b>Total Credits: 24</b>		<b>Total EGP: 184.00</b>		<b>SGPA: 7.67</b>		<b>Grade: A</b>			<b>Grand Total: 405/600</b>			<b>Percentage: 67.50</b>		
<b>** 10 Incentive marks for National Service Scheme</b>															
<b>Total Credits : 48.00</b>		<b>Total EGP : 335.40</b>				<b>Total CGPA : 6.99</b>				<b>Final Grade : B+</b>					
<b>Cumulative Grand Total : **752/1200</b>		<b>Equivalent Percentage : 62.67</b>				<b>Status : Pass</b>									

*Principal*  
Principal  
Shahada Takuka Educational Society and  
Co-operative Education Society Limited's  
Sr. Arts Mahila Mahavidyalaya  
Tal-Shahada, Dist-Nandurbar



DIRECTOR,  
Board of Examination and Evaluation  
SNDT Women's University  
Pariskha Bhavan, Mumbai- 400 049

SNDT WOMEN'S UNIVERSITY, MUMBAI - 400049  
Bachelor of Arts - Semester VI  
(Regular - 2014 Pattern) Examination: August 2021  
Result Date :30 Sep 2021

Name : SONAWANE ARATI BHANUDAS VAISHALI

Seat No : 061695

Center : 065

PRN : 2018016100020601

Medium : Marathi

College : 070: Shahada Co.op. Education Society Ltd's Sr. Arts Mahila Mahavidyalaya, Shahada, Nandurbar

Specialization : APC IV, Core Component / Composite Course, D.C. XIV, D.C. XV, D.C. XVI, D.C.-XIII

Course Code	Course Name	AM	INT		EXT		Total		Grace	Total (100)	Cr	Gr	GP	EGP	App
			Min/Max	Obt	Min/Max	Obt	Max	Obt							
545906	Economics Paper-IX Theory of Employment	TH	09/25	22	26/75	26	100	48		48/100	4	C	5.40	21.60	x
546006	Economics Paper-X International Economics	TH	09/25	20	26/75	47	100	67		67/100	4	A	7.70	30.80	x
546106	Economics Paper-XI Research Methodology	TH	09/25	23	26/75	43	100	66		66/100	4	A	7.60	30.40	x
515503	Cc Hindi Paper-V - Ekaanki Vidha	TH	09/25	21	26/75	57	100	78		78/100	4	A+	8.80	35.20	x
546206	Economics Paper-XII Banking and Financial Institutions	TH	09/25	20	26/75	36	100	56		56/100	4	B+	6.20	24.80	x
565306	Apc Economics Paper-III Agricultural Economics	TH	09/25	23	26/75	55	100	78		78/100	4	A+	8.80	35.20	x
<b>Sem V</b>	<b>Total Credits: 24</b>		<b>Total EGP: 178.00</b>		<b>SGPA: 7.42</b>			<b>Grade: A</b>		<b>Grand Total: 393/600</b>			<b>Percentage: 65.50</b>		
615603	Cc Hindi Paper-VI - Upanyas Vidha	TH	09/25	21	26/75	34	100	55		55/100	4	B+	6.00	24.00	c
646306	Economics Paper-XIII Business Cycles and Stabilization Policies	TH	09/25	22	26/75	30	100	52		52/100	4	B	5.70	22.80	c
646406	Economics Paper-XIV Economics of Development	TH	09/25	24	26/75	36	100	60		60/100	4	A	7.00	28.00	c
647506	Economics Paper-XVA Economics of Cooperation	TH	09/25	23	26/75	55	100	78		78/100	4	A+	8.80	35.20	c
646606	Economics Paper-XVI Public Finance	TH	09/25	24	26/75	45	100	69		69/100	4	A	7.90	31.60	c
665406	Apc Economics Paper-IV Industrial Economics	TH	09/25	23	26/75	55	100	78		78/100	4	A+	8.80	35.20	c
<b>Sem VI</b>	<b>Total Credits: 24</b>		<b>Total EGP: 176.80</b>		<b>SGPA: 7.37</b>			<b>Grade: A</b>		<b>Grand Total: 392/600</b>			<b>Percentage: 65.33</b>		
<b>** 10 Incentive marks for National Service Scheme</b>															
<b>Total Credits : 48.00</b>		<b>Total EGP : 354.80</b>				<b>Total CGPA : 7.39</b>				<b>Final Grade : A</b>					
<b>Cumulative Grand Total : **795/1200</b>		<b>Equivalent Percentage : 66.25</b>				<b>Status : Pass</b>									



*A. P. Pawhan*  
Principal  
Shahada Taluka Educational Society and  
Operative Education Society Limited's  
Sr. Arts Mahila Mahavidyalaya  
Tal. Shahada, Dist. Nandurbar

4/10/2021

DIRECTOR,  
Board of Examination and Evaluation  
SNDT Women's University  
Pariskha Bhavan, Mumbai- 400 049

Name : BORASE DHANASHRI RAJENDRA SUREKHA

Seat No : 061698

Center : 065

PRN : 2018016100020326

Medium : Marathi

College : 070: Shahada Co.op. Education Society Ltd's Sr. Arts Mahila Mahavidyalaya, Shahada, Nandurbar

Specialization : APC IV, Core Component / Composite Course, D.C. XIV, D.C. XV, D.C. XVI, D.C.-XIII

Course Code	Course Name	AM	INT		EXT		Total		Grace	Total (100)	Cr	Gr	GP	EGP	App
			Min/Max	Obt	Min/Max	Obt	Max	Obt							
545908	History Paper-IX History of India 1857 C.E. to 1920 C.E.	TH	09/25	21	26/75	47	100	68		68/100	4	A	7.80	31.20	x
546008	History Paper-X Indian Women in Historical Perspective ( Vedic Period to 1800 C.E.)	TH	09/25	22	26/75	39	100	61		61/100	4	A	7.10	28.40	x
546108	History Paper-XI History of Art and Architecture in India from Pre-Historic to 10th Century C.E.	TH	09/25	22	26/75	32	100	54		54/100	4	B	5.90	23.60	x
515503	Cc Hindi Paper-V - Ekaanki Vidha	TH	09/25	20	26/75	34	100	54		54/100	4	B	5.90	23.60	x
546208	History Paper-XII Elements of Archaeology in India	TH	09/25	21	26/75	39	100	60		60/100	4	A	7.00	28.00	x
565308	Apc History Paper-III History of China and Japan 1900 C.E. to 1963 C.E.	TH	09/25	22	26/75	26	100	48	04	48/100	4	C	5.40	21.60	x
<b>Sem V</b>	<b>Total Credits: 24</b>			<b>Total EGP: 156.40</b>		<b>SGPA: 6.52</b>		<b>Grade: B+</b>		<b>Grand Total: 345/600</b>				<b>Percentage: 57.50</b>	
615603	Cc Hindi Paper-VI - Upanyas Vidha	TH	09/25	21	26/75	34	100	55		55/100	4	B+	6.00	24.00	c
646308	History Paper-XIII History of Modern India (1920 C.E. to 1950 C.E.)	TH	09/25	25	26/75	47	100	72		72/100	4	A+	8.20	32.80	c
646408	History Paper-XIV Changing Position Of Women in India (From 19th To 20th Century)	TH	09/25	25	26/75	36	100	61		61/100	4	A	7.10	28.40	c
646508	History Paper-XV Development of Travel and Tourism in India	TH	09/25	25	26/75	36	100	61		61/100	4	A	7.10	28.40	c
646608	History Paper-XVI Museology and Numismatics	TH	09/25	19	26/75	41	100	60		60/100	4	A	7.00	28.00	c
665408	Apc History Paper-IV History of U.S.A. 1900 C.E. to 1963 C.E.	TH	09/25	19	26/75	49	100	68		68/100	4	A	7.80	31.20	c
<b>Sem VI</b>	<b>Total Credits: 24</b>			<b>Total EGP: 172.80</b>		<b>SGPA: 7.20</b>		<b>Grade: A</b>		<b>Grand Total: 377/600</b>				<b>Percentage: 62.83</b>	
<b>** 10 Incentive marks for National Service Scheme</b>															
<b>Cumulative</b>	<b>Total Credits : 48.00</b>			<b>Total EGP : 329.20</b>		<b>Total CGPA : 6.86</b>		<b>Final Grade : B+</b>							
	<b>Grand Total : **732/1200</b>			<b>Equivalent Percentage : 61.00</b>		<b>Status : Pass</b>									

*B. Dhanashri*  
**Principal**

Shahada Taluka Educational Society and Co-operative Education Society Limited's  
 Sr. Arts Mahila Mahavidyalaya  
 Tal: Shahada, Dist-Nandurbar



DIRECTOR,  
 Board of Examination and Evaluation  
 SNDT Women's University  
 Pariksha Bhavan, Mumbai- 400 04

Name : TADVI PRIYA KHETMAL JEBALABAI

Seat No : 061704

Center : 065

PRN : 2018016100020477

Medium : Marathi

College : 070: Shahada Co.op. Education Society Ltd's Sr. Arts Mahila Mahavidyalaya, Shahada, Nandurbar

Specialization : APC IV, Core Component / Composite Course, D.C. XIV, D.C. XV, D.C. XVI, D.C.-XIII

Course Code	Course Name	AM	INT		EXT		Total		Grace	Total (100)	Cr	Gr	GP	EGP	App
			Min/Max	Obt	Min/Max	Obt	Max	Obt							
545908	History Paper-IX History of India 1857 C.E. to 1920 C.E.	TH	09/25	21	26/75	55	100	76		76/100	4	A+	8.60	34.40	x
546008	History Paper-X Indian Women in Historical Perspective ( Vedic Period to 1800 C.E.)	TH	09/25	20	26/75	53	100	73		73/100	4	A+	8.30	33.20	x
546108	History Paper-XI History of Art and Architecture in India from Pre-Historic to 10th Century C.E.	TH	09/25	21	26/75	38	100	59		59/100	4	B+	6.80	27.20	x
515503	Cc Hindi Paper-V - Ekaanki Vidha	TH	09/25	21	26/75	28	100	49		49/100	4	C	5.45	21.80	x
546208	History Paper-XII Elements of Archaeology in India	TH	09/25	22	26/75	61	100	83		83/100	4	O	9.30	37.20	x
565308	Apc History Paper-III History of China and Japan 1900 C.E. to 1963 C.E.	TH	09/25	21	26/75	32	100	53		53/100	4	B	5.80	23.20	x
<b>Sem V</b>	<b>Total Credits: 24</b>		<b>Total EGP: 177.00</b>		<b>SGPA: 7.38</b>		<b>Grade: A</b>			<b>Grand Total: 393/600</b>		<b>Percentage: 65.50</b>			
615603	Cc Hindi Paper-VI - Upanyas Vidha	TH	09/25	21	26/75	30	100	51		51/100	4	B	5.60	22.40	e
646308	History Paper-XIII History of Modern India (1920 C.E. to 1950 C.E.)	TH	09/25	24	26/75	65	100	89		89/100	4	O	9.90	39.60	e
646408	History Paper-XIV Changing Position Of Women in India (From 19th To 20th Century)	TH	09/25	19	26/75	51	100	70		70/100	4	A+	8.00	32.00	e
646508	History Paper-XV Development of Travel and Tourism in India	TH	09/25	20	26/75	59	100	79		79/100	4	A+	8.90	35.60	e
646608	History Paper-XVI Museology and Numismatics	TH	09/25	21	26/75	47	100	68		68/100	4	A	7.80	31.20	e
665408	Apc History Paper-IV History of U.S.A. 1900 C.E. to 1963 C.E.	TH	09/25	20	26/75	61	100	81		81/100	4	O	9.10	36.40	e
<b>Sem VI</b>	<b>Total Credits: 24</b>		<b>Total EGP: 197.20</b>		<b>SGPA: 8.22</b>		<b>Grade: A+</b>			<b>Grand Total: 438/600</b>		<b>Percentage: 73.00</b>			
<b>** 10 Incentive marks for National Service Scheme</b>															
<b>Total Credits : 48.00</b>			<b>Total EGP : 374.20</b>			<b>Total CGPA : 7.80</b>			<b>Final Grade : A</b>						
<b>Cumulative</b>			<b>Grand Total : **841/1200</b>			<b>Equivalent Percentage : 70.08</b>			<b>Status : Pass</b>						



*P. Shavhan*  
Principal  
Shahada Taluk Educational Society and  
Co-operative Education Society Limited's  
Sr. Arts Mahila Mahavidyalaya  
Shahada, Dist-Nandurbar

Name : THAKARA DAMINI RAVINDRA SUNITA

College : 070: Shahada Co.op. Education Society Ltd's Sr. Arts Mahila Mahavidyalaya, Shahada, Nandurbar

Seat No : 061708

Center : 065

PRN : 3818016100020276

Medium : Marathi

Specialization : APC IV, Core Component / Composite Course, D.C. XIV, D.C. XV, D.C. XVI, D.C. XVII

Course Code	Course Name	AM	INT		EXT		Total		Grace	Total (100)	Cr	Gr	GP	EGP	App
			Min/Max	Obt	Min/Max	Obt	Max	Obt							
545904	Marathi Paper-IX Vangamayen Vad	TH	09/25	18	26/75	36	100	54		54/100	4	B	5.90	23.60	x
546004	Marathi Paper-X Madhyayugin Marathi Vagmayacha Eitihas-I	TH	09/25	22	26/75	57	100	79		79/100	4	A+	8.90	35.60	x
546104	Marathi Paper-XI Aatmapar Lekhan	TH	09/25	22	26/75	39	100	61		61/100	4	A	7.10	28.40	x
555501	English Cc Paper-V (L.L.) English for Empowerment	TH	09/25	23	26/75	34	100	57		57/100	4	B+	6.40	25.60	x
546204	Marathi Paper-XII Marathi Marathi Kadambari	TH	09/25	16	26/75	47	100	63		63/100	4	A	7.30	29.20	x
565304	Apc Marathi Paper-III A Prasar Madhyamansathi Marathi	TH	09/25	18	26/75	39	100	57		57/100	4	B+	6.40	25.60	x
Sem V			Total Credits: 24		Total EGP: 168.00		SGPA: 7.00		Grade: A		Grand Total: 371/600		Percentage: 61.83		
655601	English Cc Paper-VI (L.L.) English for Success	TH	09/25	25	26/75	38	100	63		63/100	4	A	7.30	29.20	e
646304	Marathi Paper-XIII Bharatiy Kavyashastra	TH	09/25	19	26/75	30	100	49		49/100	4	C	5.45	21.80	e
646404	Marathi Paper-XIV Madhyayugin Marathi Vagmayacha Eitihas-II	TH	09/25	20	26/75	32	100	52		52/100	4	B	5.70	22.80	e
646504	Marathi Paper-XV Marathi Natak	TH	09/25	22	26/75	59	100	81		81/100	4	O	9.10	36.40	e
647604	Marathi Paper-XVIB Samakalin Vangamayin Pravah - Dalit Sahitya	TH	09/25	21	26/75	43	100	64		64/100	4	A	7.40	29.60	e
665404	Apc Marathi Paper-IV A Grantha Parikshan Aani Grantha Samiksha	TH	09/25	18	26/75	38	100	56		56/100	4	B+	6.20	24.80	e
Sem VI			Total Credits: 24		Total EGP: 164.60		SGPA: 6.86		Grade: B+		Grand Total: 365/600		Percentage: 60.83		
** 10 Incentive marks for National Service Scheme															
Cumulative			Total Credits : 48.00		Total EGP : 332.60		Total CGPA : 6.93		Final Grade : B+						
			Grand Total : **746/1200		Equivalent Percentage : 62.17		Status : Pass								

*P. Pawhan*  
Principal

Shahada Taluka Educational Society and  
Co-Operative Education Society Limited's  
Sr. Arts Mahila Mahavidyalaya  
Tal-Shahada, Dist-Nandurbar



DIRECTOR,  
Board of Examination and Evaluation  
SNDT Women's University  
Pariksha Bhavan, Mumbai- 400 04

Name : MORE CHAITALI ISHWAR MANISHA

College : 070: Shahada Co.op. Education Society Ltd's Sr. Arts Mahila Mahavidyalaya, Shahada, Nandurbar

Seat No : 061712

Center : 065

PRN : 2018016100020164

Medium : Marathi

Course Code	Course Name	AM	INT		EXT		Total		Grace	Total (100)	Cr	Gr	GP	EGP	App
			Min/Max	Obt	Min/Max	Obt	Max	Obt							
545906	Economics Paper-IX Theory of Employment	TH	09/25	20	26/75	39	100	59		59/100	4	B+	6.80	27.20	e
546006	Economics Paper-X International Economics	TH	09/25	18	26/75	36	100	54		54/100	4	B	5.90	23.60	e
546106	Economics Paper-XI Research Methodology	TH	09/25	20	26/75	26	100	46		46/100	4	C	5.30	21.20	e
555501	English Cc Paper-V (L.L.) English for Empowerment	TH	09/25	24	26/75	41	100	65		65/100	4	A	7.50	30.00	e
546206	Economics Paper-XII Banking and Financial Institutions	TH	09/25	20	26/75	38	100	58		58/100	4	B+	6.60	26.40	e
565306	Apc Economics Paper-III Agricultural Economics	TH	09/25	20	26/75	30	100	50		50/100	4	B	5.50	22.00	e
<b>Sem V</b>	<b>Total Credits: 24</b>				<b>Total EGP: 150.40</b>	<b>SGPA: 6.27</b>		<b>Grade: B+</b>		<b>Grand Total: 332/600</b>			<b>Percentage: 55.33</b>		
655601	English Cc Paper-VI (L.L.) English for Success	TH	09/25	24	26/75	41	100	65		65/100	4	A	7.50	30.00	e
646306	Economics Paper-XIII Business Cycles and Stabilization Policies	TH	09/25	22	26/75	28	100	50		50/100	4	B	5.50	22.00	e
646406	Economics Paper-XIV Economics of Development	TH	09/25	20	26/75	39	100	59		59/100	4	B+	6.80	27.20	e
647506	Economics Paper-XVA Economics of Cooperation	TH	09/25	20	26/75	38	100	58		58/100	4	B+	6.60	26.40	e
646606	Economics Paper-XVI Public Finance	TH	09/25	19	26/75	45	100	64		64/100	4	A	7.40	29.60	e
665406	Apc Economics Paper-IV Industrial Economics	TH	09/25	20	26/75	49	100	69		69/100	4	A	7.90	31.60	e
<b>Sem VI</b>	<b>Total Credits: 24</b>				<b>Total EGP: 166.80</b>	<b>SGPA: 6.95</b>		<b>Grade: B+</b>		<b>Grand Total: 365/600</b>			<b>Percentage: 60.83</b>		
<b>** 10 Incentive marks for National Service Scheme</b>															
<b>Cumulative</b>	<b>Total Credits : 48.00</b>				<b>Total EGP : 317.20</b>			<b>Total CGPA : 6.61</b>				<b>Final Grade : B+</b>			
	<b>Grand Total : **707/1200</b>				<b>Equivalent Percentage : 58.92</b>			<b>Status : Pass</b>							

Principal

Shahada Taluka Educational Society and  
Co-Operative Education Society Limited's  
Sr. Arts Mahila Mahavidyalaya  
Tal- Shahada, Dist-Nandurbar

SNDT WOMEN'S UNIVERSITY, MUMBAI - 400049  
 Bachelor of Arts - Semester VI  
 (Regular - 2014 Pattern) Examination August 2021  
 Result Date : 30 Sep 2021

Name : KHAIRNAR VAISHALI BABAN DROPADI

College : 070: Shahada Co.op. Education Society Ltd's Sr. Arts Mahila Mahavidyalaya, Shahada, Nandurbar

Seat No : 061716

Center : 065

PRN : 2018016100020141

Medium : Marathi

Specialization : APC IV, Core Component / Composite Course, D.C. XIV, D.C. XV, D.C. XVI, D.C. XVII

Course Code	Course Name	AM	INT		EXT		Total		Grace	Total (100)	Cr	Gr	GP	EGP	App			
			Min/Max	Obt	Min/Max	Obt	Max	Obt										
545908	History Paper-IX History of India 1857 C.E. to 1920 C.E.	TH	09/25	22	26/75	36	100	58		58/100	4	B+	6.60	26.40	x			
546008	History Paper-X Indian Women in Historical Perspective ( Vedic Period to 1800 C.E.)	TH	09/25	21	26/75	26	100	47	02	47/100	4	C	5.35	21.40	x			
546108	History Paper-XI History of Art and Architecture in India from Pre-Historic to 10th Century C.E.	TH	09/25	21	26/75	26	100	47		47/100	4	C	5.35	21.40	x			
555501	English Cc Paper-V (L.L.) English for Empowerment	TH	09/25	24	26/75	28	100	52		52/100	4	B	5.70	22.80	e			
546208	History Paper-XII Elements of Archaeology in India	TH	09/25	21	26/75	43	100	64		64/100	4	A	7.40	29.60	x			
565308	Apc History Paper-III History of China and Japan 1900 C.E. to 1963 C.E.	TH	09/25	22	26/75	28	100	50		50/100	4	B	5.50	22.00	x			
<b>Sem V</b>	<b>Total Credits: 24</b>													<b>Total EGP: 143.60</b>	<b>SGPA: 5.98</b>	<b>Grade: B</b>	<b>Grand Total: 318/600</b>	<b>Percentage: 53.00</b>
655601	English Cc Paper-VI (L.L.) English for Success	TH	09/25	22	26/75	38	100	60		60/100	4	A	7.00	28.00	e			
646308	History Paper-XIII History of Modern India (1920 C.E. to 1950 C.E.)	TH	09/25	22	26/75	41	100	63		63/100	4	A	7.30	29.20	e			
646408	History Paper-XIV Changing Position Of Women in India (From 19th To 20th Century)	TH	09/25	22	26/75	45	100	67		67/100	4	A	7.70	30.80	e			
646508	History Paper-XV Development of Travel and Tourism in India	TH	09/25	24	26/75	43	100	67		67/100	4	A	7.70	30.80	e			
646608	History Paper-XVI Museology and Numismatics	TH	09/25	19	26/75	38	100	57		57/100	4	B+	6.40	25.60	e			
665408	Apc History Paper-IV History of U.S.A. 1900 C.E. to 1963 C.E.	TH	09/25	19	26/75	30	100	49		49/100	4	C	5.45	21.80	e			
<b>Sem VI</b>	<b>Total Credits: 24</b>													<b>Total EGP: 166.20</b>	<b>SGPA: 6.93</b>	<b>Grade: B+</b>	<b>Grand Total: 363/600</b>	<b>Percentage: 60.50</b>
<b>** 10 Incentive marks for National Service Scheme</b>																		
<b>Cumulative</b>	<b>Total Credits : 48.00</b>													<b>Total EGP : 309.80</b>			<b>Total CGPA : 6.45</b>	<b>Final Grade : B+</b>
	<b>Grand Total : **691/1200</b>													<b>Equivalent Percentage : 57.58</b>			<b>Status : Pass</b>	

*A. P. Pawhan*  
Principal

Shahada Taluka Educational Society and  
 Co-Operative Education Society Limited's  
 Sr. Arts Mahila Mahavidyalaya  
 Tal. Shahada, Dist. Nandurbar



DIRECTOR,  
 Board of Examination and Evaluation  
 SNDT Women's University  
 Pariskha Bhavan, Mumbai- 400 049

Name : MORE ROSHANI DILIP VAISHALIBAI  
 College : 070: Shahada Co.op. Education Society Ltd's Sr. Arts Mahila Mahavidyalaya, Shahada, Nandurbar

Seat No : 061717

Center : 065

PRN : 2018016100020013

Medium : Marathi

Course Code	Course Name	AM	INT		EXT		Total		Grace	Total (100)	Cr	Gr	GP	EGP	App
			Min/Max	Obt	Min/Max	Obt	Max	Obt							
			Specialization : APC IV, Core Component / Composite Course, D.C. XIV, D.C. XV, D.C. XVI, D.C.-XIII												
545908	History Paper-IX History of India 1857 C.E. to 1920 C.E.	TH	09/25	20	26/75	49	100	69		69/100	4	A	7.90	31.60	x
546008	History Paper-X Indian Women in Historical Perspective ( Vedic Period to 1800 C.E.)	TH	09/25	21	26/75	53	100	74		74/100	4	A+	8.40	33.60	x
546108	History Paper-XI History of Art and Architecture in India from Pre-Historic to 10th Century C.E.	TH	09/25	22	26/75	39	100	61		61/100	4	A	7.10	28.40	x
555501	English Cc Paper-V (L.L.) English for Empowerment	TH	09/25	24	26/75	47	100	71		71/100	4	A+	8.10	32.40	x
546208	History Paper-XII Elements of Archaeology in India	TH	09/25	19	26/75	38	100	57		57/100	4	B+	6.40	25.60	x
565308	Apc History Paper-III History of China and Japan 1900 C.E. to 1963 C.E.	TH	09/25	22	26/75	26	100	48	02	48/100	4	C	5.40	21.60	x
<b>Sem V</b>		<b>Total Credits: 24</b>		<b>Total EGP: 173.20</b>		<b>SGPA: 7.22</b>		<b>Grade: A</b>		<b>Grand Total: 380/600</b>		<b>Percentage: 63.33</b>			
655601	English Cc Paper-VI (L.L.) English for Success	TH	09/25	21	26/75	61	100	82		82/100	4	O	9.20	36.80	e
646308	History Paper-XIII History of Modern India (1920 C.E. to 1950 C.E.)	TH	09/25	19	26/75	39	100	58		58/100	4	B+	6.60	26.40	e
646408	History Paper-XIV Changing Position Of Women in India (From 19th To 20th Century)	TH	09/25	24	26/75	39	100	63		63/100	4	A	7.30	29.20	e
646508	History Paper-XV Development of Travel and Tourism in India	TH	09/25	24	26/75	34	100	58		58/100	4	B+	6.60	26.40	e
646608	History Paper-XVI Museology and Numismatics	TH	09/25	19	26/75	28	100	47		47/100	4	C	5.35	21.40	e
665408	Apc History Paper-IV History of U.S.A. 1900 C.E. to 1963 C.E.	TH	09/25	18	26/75	38	100	56		56/100	4	B+	6.20	24.80	e
<b>Sem VI</b>		<b>Total Credits: 24</b>		<b>Total EGP: 165.00</b>		<b>SGPA: 6.88</b>		<b>Grade: B+</b>		<b>Grand Total: 364/600</b>		<b>Percentage: 60.67</b>			
<b>** 10 Incentive marks for National Service Scheme</b>															
<b>Cumulative</b>		<b>Total Credits : 48.00</b>		<b>Total EGP : 338.20</b>		<b>Total CGPA : 7.05</b>		<b>Final Grade : A</b>							
		<b>Grand Total : **754/1200</b>		<b>Equivalent Percentage : 62.83</b>		<b>Status : Pass</b>									

*R. D. Mahajan*  
 Principal

Shahada Taluka Educational Society and  
 Operative Education Society Limited's  
 Sr. Arts Mahila Mahavidyalaya  
 Tal- Shahada, Dist-Nandurbar



DIRECTOR,  
 Board of Examination and Evaluation  
 SNTD Women's University  
 Pariksha Bhavan, Mumbai- 400 049